Fill-in the blank to complete the Symbol sequence
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2nd Edition
Letter(s) of Symbol CV |Connection Value Principles JO Code
D 0.1 |C+C both have flight or turn p. 86
0.1 |Same as above
F 0 |C+C=0CV Noflight or turn required if BOTH are from Groups 3, 6 or 7 p.86
and different. Since overshoot 1/2 (4.204) is from Group 4 both
must have flight or turn.
0.1 |C+C both have flight or turn p. 86
A orE 0.2 D+D p.87-88
F 0.1 |Element 4.204 "Receives 'C' value if it immediately follows p.87 & 113
a'D'or'E' release element
BorC 0 |Both not from Groups 3, 6 or 7 so both 'C's must have flight or turn p.86
Cast handstand 1/2 = Group 2
0.1 |C+D -the'C element does NOT have to have flight or turn p.87
GorH 0.2 |D+D Noturn or Flight required p.87-88
DorlorK 0.1 C+D
Cast handstand hop to grip change ='C' p.67
C 0.1 |C+C Exception: No flight or turn required if BOTH are from p.86
Groups 3, 6 or 7 and the elements are DIFFERENT
0.1 |C+D -the'C element does NOT have to have flight or turn p.87
AorEor) 0.2 D+D p.87-88




